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Must machines be logical: No, we're not, they won't be


You can make logical deductions that are not useful in real life.


You can lay down rules in logical manner but the behavior the rules describe will not be logical


It's logical that chess pieces that can move more should be worth more


DEEP BLUE: computer chess-Kaspara lost


pawn:worth 120 points


Kaspara: thought the moves were tooo humanlike, thought there were people, cheating


-Many judging systems


Chess: simple moves


A specific algorithm to a chess playing machine woul make it play but not play well- like in a capture, take the highest pt. valued piece


ALGORIThM: a specific set of steps that completely specify a behavior


But just because use set rules, doesn't mean it will make a lot of sense


Our bodies are set up a certain way but just because they follow logical rules of chemistry doesn't mean our behavior will be logical


(same with computer-end product)


*** a logical machine might not be use ful or predictable--illogical.


Chains of reasoning:


- not perfectly logical


-imply each other


-we don't use perfectly logical deductions; people deal with usual or typical


-machines use 100% all the time true/false logic


-our deductions aren't perfectly logical but htey help in our day to day activities


-easier to derive, hard to find absolute


-each person has sep. set of rules


-hard to think of exceptions to  perfect rules


-better to use rules that work most of the time


-if a rule has faults, try to come up with more rules to fix, becomes endless chain


Driving: impossible to account for what the other drivers could do


-**Have to make assumptions**


-approximate-rather than perfect- rules are better for daily lives


Common sense- stop when make conclusions


Bridge= multiple pieces of evidence


rules aren't always right; more than one reason A--B: makes argument strong


Math: one thing to pull on, no middle ground


rules are either right or wrong


if you attack an argument from different directions, more people will agree with you


More hear: more strong


one single reason in math- just as strong


 single chain vs.  bundles


in single chain- break one, the rest fall apart "the weakest link"


branches in bundles= redundancy. one fails, still will be another link/ line of reasoning to fall back on


